PROBLEMES
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. EXEMPLE 1

void tri_decroissant(int *tab,

{
int i, j;

for (1 = length - 1; 1 > 0; i++

for (j =0; j <i-1; j++)
if (tab[j] < tab[j + 1]
int temp = tab[j];

tab[j] = tab[]j + 1];
tab[j + 1] = temp;
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void fqo(void) {
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printf("@foo:%p - %p\n'", ptr_foc
return 0;
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EXEI

void foo_1(void){ printf (", World!\r
int foo_2(char * s){ return printf('
void (* foo_3(int i))(void)({
printf("%d\n", 1i);
return &(foo_1);

(* foo_4(int 1i))(char *){
printf("%d\n", 1);
return &(foo_2);

main(void){

void (*ptr_1)(void)=foo_3(1);
void (*ptr_2)(char *)=foo_4(2);
(*ptr_2)("Hello”);

(*ptr_1)();
return 0;

Que ce cod
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implémentées comme suit et e Lechoix del'opéra
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double (* selectOperation(char choic
int i=-1;
switch(choice
case '+’: ; break;
case '-': i=1; break;
case 'x’: i=2; break;
case '/': 1i=3; break;
default: r n NULL;

}

return operations[i];

2) = {&(add), &(substract),
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